Series SYJ3000
Manifold Specifications

Manifold Standard

1-5-14

Manifold Specifications

Model Type 20 |Type 31, S31 | Type 32, S32 | Type 41, S41 | Type 46, S46
Manifold type Single base/B mount
P (SUP), R (EXH) Common SUP/Common EXH ﬁ‘é?&?ﬁ’& %’(ﬁ
Valve stations 2 to 20 stations
A, B port Location Valve Base
Porting specifications Direction Top Side
P:1/8
M5 x 0.8 1/8
Port size P’ R pon R: M5x0.8
A, B port M3 x 0.5 M5 x 0.8, C4 (One-touch fitting for a4)

Flow Characteristics

Port si Flow characteristics Effective
, CIUSIZE 14/2 (P—A/B) 4/2-55/3 (AlB>R) |-
Manifold 1(P),55(R)|2(B), 4(4) C © érea
s s 2
port port |[dm3/(s-bar)] SR [dm¥/(s-bar)] b Gy |G
Body ported y
e $S5YJ3-20 |SYJ3m20|M5x 0.8(M3x0.5] — — | — — — | — |09
SS5YJ3- &, |SYJO30|M5%0.8M3x05 — | —| — | — | — | — |09
§55YJ3-32-M5 M5x08| 0.25 [0.19]0.060] 0.32 [0.25 [0.077] —
§S5YJ3-32-C4 [ 025 [0.18]/0.059] 0.30 [0.27 [0.075] —
ssavaasals | OV 93801 118 1ur 08 0.25 [0.26]0.060] 0.29 [0.15 [0.062] —
SS5YJ3-532-C4 c4 024 [0.21]0.057] 027 o0.18 [0.062] —
Base mounted | SS5YJ3-41-M5 M5x08| 0.32 [0.25/0.081] 0.33 [0.19 [0.079] —
for internal pilot | SS5YJ3-41-C4 c4 0.32 [0.28]/0.079] 0.35 [0.24 [0.084] —
ssavaasais O U340 18 1ue 08 0.33 |0.29]0.082 0.34 [0.17 [0.081] —
§55YJ3-541-C4 [ 0.32 [0.27/0.079] 0.34 [0.24 |0.084] —
§55YJ3-46-M5 M5x0.8] 0.20 [0.25/0.048] 0.10 [0.12 [0.024] —
SSEVU6-CA | oa| 18 | C4 021 [0.27]/0.050] 021 [0.13 [0.047] —
$55YJ3-846-M5 M5x0.8M5x08 020 [0.25/0.048] 0.19 [0.16 [0.024] —
§55YJ3-546-C4 c4 0.22 [0.34]/0.057] 0.10 [0.090[0.024] —

Q Note) Value at manifold base mounted, 2 position single operating

How to Order Manifold (Example)

Instruct by specifying the valves and blanking plate assembly to be mounted on the manifold along
with the manifold base model no.

Example:
® SS5YJ3-20-03........... 1 set (Manifold base) © SS5YJ3-S41-03-C4 - 1 set (Manifold base)
* SYJ3120-5G-M3 ... 2 sets (Valve) * SYJ3140-5LZ ........... 2 sets (Valve)

* SYJ3000-21-1A - 1 set (Blanking plate assembly) * SYJ3000-21-2A ....... 1 set (Balnking plate assembly)

The asterisk denotes the symbol for assembly. Prefix it to the part nos. of the solenoid valve, etc.

* Use manifold specification sheet.

o
5




Series SYJ3000

Common SUP/Common EXH Q Note) For more than 10 stations, supply ai to both sides of P port and exhaust air from both sides of R port.

Type 20 (5 Port/Body ported) How to Order Applicable solenoid valve
SS5YJ3-20—| 05 SYJszs. COD0 M3

Number of stations .—‘ gspsp;:fli?;e blanking plate

02 | 2 stations SYJ3000-21-1A

20 |20 stations

M5 x 0.8 M5 x 0.8
Type 31 (4 Port/Base mounted) How to Order
Tvpe 31 Tvpe S31 ( Single solenoid coil is on
P P (same side asthe A, B port.) SSSYJ 3_ 31 - 05 _M3
L L
Valve mounting directionl lStations
Nil Single solenoid coil is on 02 | 2 stations
! opposite side as the A, B port.
Single solenoid coil is on N
S . 20 |20 stations
same side as the A, B port Applicable solenoid valve
M5 0.8 SYJ3030-0000
SYJ3033-0000
Type 32 (4 Port/Base mounted) How to Order Applicable blanking plate
Ss5YJ3- [32-{05 HM5 | | &ioes
Type 32 Type S32 SYJ3000-21-2A
(Single :?olenoid coil is on
same side as the A, B port. Valve mounting direction | stations | P, R port
b .| Single solenoid coil is on 02 | 2 stations ’
br opposite side as the A, B port. : . thread type
Single solenoid coil is on - Nil Rc
s same side as the A, B port. 20J) 20 stations . F G
A, B port size N | NPT
M5 M5 x 0.8 T NPTF
M5 x 0.8, C4 18 M5x08,C4 1/8 C4 | One-touch fitting for 4
N3 | One-touch fitting for @5/32"
Type 41 (5 Port/Base mounted) How to Order Applicable solenoid valve
SS5YJ3-{ |41+ 05 HC4 || | svisceeonon
Type 41 Type S41 YJ3043-0000
(Single §o|enoid coil is on ) ) - Applicable blanking plate
R port same side as the A, B port. Valve mounting direction l Stations l assembly
.. | Single solenoid coil is on 02 | 2 stations SYJ3000-21-2A
Nil opposite side as the A, B port.
Single solenoid coil is on -
S | same side as the A, B port. 20j 20 stations P, R port
A, B port size thread type
M5 M5 x 0.8 Nil Re
/ C4 | One-touch fitting for g4 F G
M5 x 0.8, C4 M5x 0.8, C4 N3 | One-touch fitting for 85/32" N NPT
T NPTF

Common SUP/Individual EXH type QNote) For more than 10 stations, supply air to both sides of P port.

Type 46 (5 Port/Base mounted) How to Order Applicable solenoid valve
SYJ3040-0000
Type 46  Type S46 SS5YJ3+ 46— 05 M5 SYJ3043-0000
(Single solenoid coil is on ) R1 R2 port
same side as the A, B port. M5 x 0.8 . i \—l \—l Applicable blanking plate
Valve mounting direction Stations assembly
Nil Single solenoid coil is on 02 | 2 stations SYJ3000-21-2A
. opposite side as the A, B port. . .
Single solenoid coil is on Ny P port
S | same side as the A, B port. &0 20 stations thread type
A, B port size Nil | Rc
M5 M5 x 0.8 F G
M5x0.8,C4 C4 | One-touch fitting for o4 N | NPT
1/8 N3 | One-touch fitting for 95/32" T NPTF

1-5-16 %svc



Series SYJ3000

Combinations of Solenoid Valve, Manifold Gasket and Manifold Base

5 port body ported
(Type SYJ30123)

A Mark Manifold

SX_
I asket
! SYJ3000-14-7

P Type SS5YJ3-20 } Manifold
¢ Type SS5YJ3-21P

4 port base mounted
(Type SYJ3[39%)

Type SS5YJ3-31
Type SS5YJ3-S31

b
ase Type SS5YJ3-32

Manifold

™ gasket
! SYJ3000-14-6

| Applicable manifold base H H
Manifold

Type SS5YJ3-S32
Type SS5YJ3-32P

5 port base mounted
(Type SYJ30143%)

Round head combination screw

/ SY100-33-3
(M1.7 x 17, Matt nickel plated)

Applicable manifold base
Type SS5YJ3-41 .
Type SS5YJ3-S41 | Manifold
Type SS5YJ3-46 | base

Type SS5YJ3-S46

Manifold
™ gasket

! SYJ3000-14-2

Combination of Blanking Plate Assembly and Manifold Base Difference between SYJ3(13Jand SYJ34;

Blanking plate assembly
SYJ3000-21-1A

Blanking
plate

Y Manifold Y Manifold
DA N gasket ‘ gasket

SYJ3000-14 -7

Applicable manifold base
Type SS5YJ3-20 Manifold base

Blanking plate assembly
SYJ3000-21-2A

Round head combination screw

SY100-33 -2
(M1.7 x 7, matt nickel plated)

Blanking plate
SYJ3000-21-1

SYJ3000-14 -2

Applicable manifold base

Sub-plate

Type SS5YJ3-41
Type SS5YJ3-S41
Type SS5YJ3-46
Type SS5YJ3-S46
Type SS5YJ3-31
Type SS5YJ3-S31
Type SS5YJ3-32
Type SS5YJ3-S32

Manifold base

Note) Manifold gasket “SYJ3000-14-2” can be

Blanking plate assembly
SYJ3000-21-4A

Round head combination screw

SY100-33-2
(M1.7 x 7, matt nickel plated) g

Blanking plate
SYJ3000-21-1 V%

Dust cap
SYJ3000-42-1

Applicable manifold base

Type SS5YJ3-32P
Manifold base

1-5-18

used with the following manifold bases.

Type SS5YJ3-31

Manifold base of ¥¥B: ggﬂ
Type -S32

Blanking plate assembly
SYJ3000-21-3A

Round head combination screw

SY100-33-2 Ne f

(M1.7 x 7, matt nickel plated) g

Blanking plate «Q A Mark
SYJ3000-21-1 ¥
. ¢ Manifold
Manifold D 2R gasket

Dust cap

b SYJ3000-14-7
SN

Applicable manifold base

Type SS5YJ3-21P
Manifold base

O
5

SYJ30130, 3133
(4 port)

SYJ30140, 3143
(5 port)

Steel ball is driven in.

\Configuration of surface is different.>

A Caution

’ Mounting screw tightening torques

M1.7: 0.12 N-m

Use caution to the assembly orientation for
solenoid valves, gasket, and optional parts.




4/5 Port Solenoid Valve

Rubber Seal Series

Type 20 Manifold: Top Ported/SSSYJ3-20-

SYJ3000

O e

Grommet (G)

Approx. 300
(Lead wire length)

7 M (Pitch)

ML P=105 12.5
Manual override —— ﬂ‘
L
® LT 4 o] N 5
— 0 Ll - ™
g : NEEEREE (o
= 6 |- P @%@ e ette o o N | D PO e
|2 - éc%eee< MR = ™ D N
51205 |o ; S [J,_
o, S e ‘E\ e~ f Vays
N~ 1 cl - CD Y
3 B 2-03.5 Qi :y5RX 0.8
(For mounting) (P, R port)
TOWWww M3 x 0.5
(A, B port)
L2
L1
(Station n)------ {Station 1)
(Light/Surge voltage suppressor)
> +] | [-:4]
A
Q| ©
Y&l e
®
L plug connector (L) M plug connector (M) M8 connector (WO)
=i
§ o 42 [49]
al's
<z 26.6
3
M8 x 1
Approx. 300 53.1[60.1]
(Lead wire length)
— Q 10 10
=) - — - -
o @ - L
2k 2 -k g1 & S 143
=t 9 5o MRE @
ik @8 : &8 o & 3
F o [ - = F 3
) 0 ©
ai
© ©
S )
i © o
g o 29
46.5
Q Refer to page 1-5-79 for dimentions
with connector cable.

Station n | Station2| 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 |[Station 20
L1 35.5 46 | 565 | 67 | 77.5| 88 | 985 | 109 |119.5| 130 |140.5| 151 [161.5] 172 [182.5| 193 |203.5| 214 | 2245
L2 28.5 39 |495| 60 | 70.5| 81 | 915 | 102 |112.5]| 123 |133.5| 144 |[154.5| 165 |175.5| 186 |196.5| 207 | 217.5

1-5-19

O
5

SV
SZ

SY

SX



Series SYJ3000

Type 31 Manifold: Side Ported/SS5YJ3-31-|Stations|-M3

Q[ l: AC

Grommet (G)
o=

Type S31 Manifold: Side Ported (m\ samo e

Single solenoid coil

)

oS

o2

e SS5YJ3-S31-[Stations|-M3

<% £ L1
T 35 L2
-

2-03.5
g g (For mounting) Manual override ——
N M5 x 0.8 51 || o
=) < 7.5_/ (P, Rport) © = . 0
% __; (8 ":‘ 1': 7& ' —
=)o BIEd 4% o | S [ & g 2| ] PRE %

o 5| —= X ~| = =y 0| N | L9,

glw| @ 0431 '0.%"“% e‘_.g =38 0431 N “'83@

: Ol Al A] A] A e 52 © = [} E. 7] BT BT B ) 3, 'a\)

5 (: B | | [ — ~ f s x L4 a i

™~ Py c; ‘ ~ R 5

] | | . L

- Manual override - wow W 2-03.5
(Pitch) (For mounting)

(Pitch) P=10.5 9
12.5 P=10.5 L2 35
L1
(Station 1)----- (Station n) (Station n)----- (Station 1)
(Light/Surge voltage suppressor) (Light’Surge voltage suppressor)
= :T ‘ HEEE
5 oo} || ela} T B 1®
B,
0 bl 8 S,
g& AD O O & 9 A o mw——&aaeam
BG © © O & ‘—I‘_ ‘_'-I 5> & & O 4 A
[}
Lo pich)  \ @ / (Pitch) i
13.5 P=10.5 M3 x 0.5 M3 x 0.5 P=10.5 14.5
(A, B port) (A, B port)
L plug connector (L) M plug connector (M) M8 connector (WO)
M8 x 1 48
@ © 30.5
S, 8 © o ®
o [}
IS} ~
) o <
= oo_ — L, 3 L 139
HE =3 ig G éi:‘_’- = ﬂ N
— | @, o] 1| © | &
B 222 o & :
0| ® ® | R 4 e 9 ARt
- o ’
Approx. 300 54.6 [61.6]
(Lead wire length)
= 28
(o))
ol & 43.4 [47.3]
3l
NE
olo
s ®
gg Q Refer to page 1-5-79 for dimentions
with connector cable.

Stationn| Station2 | 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 |Station 20
L1 35.5 46 | 565 | 67 | 775 | 88 | 985 | 109 |119.5| 130 |140.5| 151 |161.5| 172 |182.5| 193 |203.5| 214 | 224.5
L2 28.5 39 | 495 | 60 | 705 | 81 | 91,5 | 102 [112.5]| 123 |133.5| 144 |154.5| 165 |[175.5| 186 |196.5| 207 | 217.5

1-5-20

O



Type 32 Manifold: Side Ported/SS5YJ3-32- -M5

4/5 Port Solenoid Valve .
Rubber Seal Series

C4
» N3

SYJ3000
Q [ IAC

o=
o | >
Grommet (G) |2 L1 N
S|z Manual override
For M5 gz 4 L2
= 2-04.5
= 4 (F(lmountlng) 10 18
. © -
—| / G| (P, R port)
|2 & o Ll S— 0
8':\1_((}‘) (b‘p‘p‘i‘bqgfw—'ﬁ:& \J":,_'
(B 2o 81 O 15
- i1 = S o
* 3 us, © N
LT (Pitch)
15.5 P=10.5

(Station 1)- -(Station n)

(Light/Surge voltage suppressor)

I7%)
To}
0,/
0(B [ 060606
®® a<<>eemol
1L PehNot sy 0.8
16. =10.
6.5 P 103 . B port)

L plug connector (L)

Type S32 Manifold: Side Ported (Sroesseroscalson

M plug connector (M)

[ee]
3 o
f o
'L{_).| —
Sl 8 ™
|3 B ik 8
5 EHolf 35 E9
olg| =9 2h olg
—|o o R
- &
S 7
e I Approx. 300 59.6 [66.6]
; a 1.33.1,] (Lead wire length)
3= 48.4[55.4]

For C4EI (Built-in One-touch fitting)

_10_

T
o3
(Station 1)|—_ 1{Station n) SV
1;2 L2 (Light'Surge votage suppressor) | §Z
. M
SY
I o]
LSO sV,
.| (Pitch) One-touch fitting ~ E—_——
16| |P=10.5 (A, B port)
Applicable tubing O.D.: g4, 85/32" SX
M8 connector (WO)
M8 x 1 53
g 35.5 g
<
o/
™G alloy
g 8
-

@)

)/ISS5YJ3-S32- -ms, & N3

Refer to page 1-5-79 for dimensions
with connector cable.

L1 . .
For M5 Lo 4 For ﬁglj (Built-in One-touch fitting)
Manual override
oL [T — 0.
= T w3 []
8|11 Kl S O
=¥ wla| & —
'\%g vl‘l‘l‘i‘b+z*8§§% e 8
5| Y5 B =
. (=}
b WA i % o §
2-g4.5 " i - i
(For mounting) (chh(%.5 15.5 (Station nl)-1 (Station 1)
(Station n)- -(Station 1) (Light/Surge voltage suppressor) L2 3555
(Light/Surge voltage suppressor) (b *
© 00 o
8]5‘33@ 0009~ by v S
M5 x 0 &’Pitﬂh()) 5 i 17.5 One-touch fitting MR fj e LOEL“_)INI
A, Bport) ~=10 : - Pitch 15
( port) (A, B port) f) = 13.5 18
Applicable tubing O.D.: 94, 85/32"
SS5YJ3-32, 332 M5
Station n | Station 2 7 8 9 10 11 12 13 14 15 16 17 18 19 |Station 20
L1 41.5 52 62.5 73 83.5 94 [104.5| 115 |125.5| 136 |146.5| 157 |167.5| 178 |188.5| 199 |209.5| 220 | 230.5
L2 33.5 44 | 545 | 65 | 755 | 86 | 96.5| 107 |117.5]| 128 |138.5| 149 |159.5| 170 |180.5| 191 |201.5| 212 | 222.5
SS5YJ3-32, S32- -C4
Station n | Station2| 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 |Station 20
L1 42.5 53 | 635 | 74 | 845 | 95 |105.5| 116 |126.5| 137 |147.5| 158 [168.5| 179 |189.5| 200 |210.5| 221 231.5
L2 33.5 44 | 545 | 65 | 755 | 86 | 96.5| 107 |117.5]| 128 |138.5| 149 |159.5| 170 |180.5| 191 |201.5| 212 | 222.5
1-5-21

O



Series SYJ3000

Type 41 Manifold: Side Ported/SS5YJ3-41- -M5

C4
> N3

Q[ ]: AC

Grommet (G)
For M5

—
(@]

18

o

)
-
h

(R

1/8
port)

—_
o

i~/ (

L

1/8
P port)

21.5

36.5

o=
o5
“ls
5 2 (Pitch)
gl= 16 P=10.5
<2
Manual override
& ) =
=8 =1 u 8|c
© [ |9 9191919 e Nlo |9
2, = AR lm. 2| 5 ;‘
~ [© [Pl E W03 o
- = 1 ~
o © 5] | |
'\ =
2-04.5 4 L2
(For mounting) L1

(Station 1) - -(Station n)

(Light/Surge voltage suppressor)

48.5 [55.5]

33.1
>

> O O 0O ¢€ o
15955 Slomig]

L plug connector (L)

Type S41 Manifold: Side Ported (

2| (Pich)\ M5 x08
7 105\ 2B o

For NgD (Built-in One-touch fitting)

(Light/Surge voltage suppressor)

M plug connector (M)

98.6[103]

111.5[115.9]

70.8 [73]

0.8

(Lead wire length)
Approx. 300

33.1

48.5 [55.5]

91.9[96.3]

Approx. 300

79 [83.4]

1

i—d

59.6 [66.6]

61 [63.2]

(Lead wire length)

Single solenoid coil is on
same side as the A,B port.

)ISS5YJ3-S41- -M5, N3D

1/8
1%/ port)
L\'f <
VYisiho
=™
ﬁJL
F <
s NS
(Station 1)- - - (Station n)
FﬂFﬂ
B K
INENESENENEIY
[of bR
Yol ANV VUG Nk
2|l | (Pitch) One-touch fitting
17| |P=105 (A, B port)

Applicable tubing O.D.: g4, g5/32"

M8 connector (WO)

M8 x 1

© 35.5

S 3

[

@ 3
~|® oy
o|8 O}
peitey <

o
=

Refer to page 1-5-79 for dimensions
with connector cable.

(Pitch)
For M5 P=105 16 For NgD (Built-in One-touch fitting)

Manual override [

-\
— ™ i N
| < [ i —
©| = N 1/8
o[ —ACD o 10
NN f|N[©oln[©]0 T (P port)
:Bg “:‘pin‘a‘:+mgggg;
° |y ¥ < (R = \(f <

8, ||k B 8

L2 4 2-04.5
For mountin
L1 ( 9)
(Station n)- - {Station 1) (Light/Surge voltage suppressor) (Station n)- - - (Station 1)
(Light/Surge voltage suppressor)
8I$¢mv j ;0000?) 0; BA NI“i i \WA)”{\W/\%%FZA
M5 x 0.8 /(Pitch) [_ T25 One-touch fitting |(:P=|t$(??5 15
(A, B port) P=103 (A, B port) :
Applicable tubing O.D.: g4, 85/32"

Station n [ Station2| 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 |Station 20
L1 39.5 50 |605 | 71 815 | 92 [|102.5| 113 |123.5| 134 |144.5| 155 |165.5| 176 [186.5| 197 |207.5| 218 | 228.5
L2 31.5 42 | 525 | 63 | 735 | 84 945| 105 |115.5] 126 |136.5| 147 |157.5| 168 [178.5| 189 [199.5| 210 | 220.5

1-5-22

O



Type 46 Manifold: Side Ported/SS5YJ3-46- -M5

4/5 Port Solenoid Valve

Rubber Seal Series

C4
» N3

SYJ3000

Q[ ]: AC

Grommet (G)
For M5

(Station 1)- - (Station n)
(Light/Surge voltage suppressor)

48.5[55.5
.33.1,

>0 6 €
000 “’*“,-’igl

©

fonlg

(Pitch)
P =105

*
M5 x 0.8

L plug connector (L)

®
o

98.6[103]

69.8 [72]

(Lead wire length)
Approx. 300 111.5[115.9]

48.5 [55.5]

33

(A, B port)

ol
S5
D5
kS (Pitch)
2= 145 P=105
<2
Manual override
Il 1/8
) = 10
—|ai 4 ol (P port)
152 T SN O =
&goo' vv‘b‘si;ipinm_lx'ga H 33
~| 3Pl o 19 N R g 91
- = L N~
) bl e~
® 11|
o 7 \__ 2945
4 L2 (For mounting)
L1

For C4D (Built-in One-touch fitting)

(Station 1)- - -(Station

(Light/Surge voltage suppressor)

M plug connector (M)

0.8

O

60 [62.2]

91.9[96.3]
79 [83.4]

—

Approx. 300 l

59.6 [66.6]

(Lead wire length)

ol ol oy

AN

1.5, | (Pitch)

— =1

11.8 P=105

n)

One-touch fitting

(A, B port)

Applicable tubing O.D.: 94, 85/32"

M8 connector (WO)

@)

M8 x 1
35.5
3 0 @
‘D-,, o
2
U PP ©la
38 O 2
=2 o
L |

Type S46 Manifold: Side Ported (S serdacis o )/SS5YJ3-S46- -ms, & N3

Refer to page 1-5-79 for dimensions
with connector cable.

(Pitch)
For M5 g P=105145 For ﬁgD (Built-in One-touch fitting)
Manual override
— 2 oI~ .,
g = A d 1/8
=5y |10 “cvcvcquémm'\. :E, (P port)
ES%NLEDB’BDBDBDB igt’o’gw p
o —|l o0 I o
~ i 2™ Oops
3 8 2|
HH ®
THWW 2-04.5 =
tf 4 (For mounting) ;
(Station n)- - -(Station 1) (Light/Surge voltage suppressor) (Station n)- - -(Station 1)
SRR
(Light/Surge voltage suppressor) /|| 68| 2|68 (& 28] {£3) (23] (23] (23]
PP
|2 NZNZNZNZNY:)
o © 0008 OILD OXOXD
Rlefol L 0 0.4 g RN 1 ol
(Pitch) Jjé One-touch fitting Pitch) *«1;5
'\/’3"5é 08 /'p_105 | [i57 (A, B port) P=105 | [157
(A, B port) Applicable tubing O.D.: 94, 85/32"

Station n |Station2| 3 4 ) 6 7 8 9 10 11 12 13 14 15 16 17 18 19 |Station 20
L1 39.5 50 60.5 71 81.5 92 |102.5| 113 [123.5| 134 |[144.5| 155 |165.5| 176 |186.5| 197 |207.5| 218 228.5
L2 31.5 42 | 52.5 63 | 735 | 84 94.5| 105 |115.5]| 126 | 136.5| 147 |157.5| 168 |178.5| 189 |199.5] 210 | 220.5

1-5-23

O
:



Series SYJ3000

Combinations of Solenoid Valve, Manifold Gasket and Manifold Base

5 port body ported
(Type SYJ30123)

A Mark Manifold

SX_
I asket
! SYJ3000-14-7

P Type SS5YJ3-20 } Manifold
¢ Type SS5YJ3-21P

4 port base mounted
(Type SYJ3[39%)

Type SS5YJ3-31
Type SS5YJ3-S31

b
ase Type SS5YJ3-32

Manifold

™ gasket
! SYJ3000-14-6

| Applicable manifold base H H
Manifold

Type SS5YJ3-S32
Type SS5YJ3-32P

5 port base mounted
(Type SYJ30143%)

Round head combination screw

/ SY100-33-3
(M1.7 x 17, Matt nickel plated)

Applicable manifold base
Type SS5YJ3-41 .
Type SS5YJ3-S41 | Manifold
Type SS5YJ3-46 | base

Type SS5YJ3-S46

Manifold
™ gasket

! SYJ3000-14-2

Combination of Blanking Plate Assembly and Manifold Base Difference between SYJ3(13Jand SYJ34;

Blanking plate assembly
SYJ3000-21-1A

Blanking
plate

Y Manifold Y Manifold
DA N gasket ‘ gasket

SYJ3000-14 -7

Applicable manifold base
Type SS5YJ3-20 Manifold base

Blanking plate assembly
SYJ3000-21-2A

Round head combination screw

SY100-33 -2
(M1.7 x 7, matt nickel plated)

Blanking plate
SYJ3000-21-1

SYJ3000-14 -2

Applicable manifold base

Sub-plate

Type SS5YJ3-41
Type SS5YJ3-S41
Type SS5YJ3-46
Type SS5YJ3-S46
Type SS5YJ3-31
Type SS5YJ3-S31
Type SS5YJ3-32
Type SS5YJ3-S32

Manifold base

Note) Manifold gasket “SYJ3000-14-2” can be

Blanking plate assembly
SYJ3000-21-4A

Round head combination screw

SY100-33-2
(M1.7 x 7, matt nickel plated) g

Blanking plate
SYJ3000-21-1 V%

Dust cap
SYJ3000-42-1

Applicable manifold base

Type SS5YJ3-32P
Manifold base

1-5-18

used with the following manifold bases.

Type SS5YJ3-31

Manifold base of ¥¥B: ggﬂ
Type -S32

Blanking plate assembly
SYJ3000-21-3A

Round head combination screw

SY100-33-2 Ne f

(M1.7 x 7, matt nickel plated) g

Blanking plate «Q A Mark
SYJ3000-21-1 ¥
. ¢ Manifold
Manifold D 2R gasket

Dust cap

b SYJ3000-14-7
SN

Applicable manifold base

Type SS5YJ3-21P
Manifold base

O
5

SYJ30130, 3133
(4 port)

SYJ30140, 3143
(5 port)

Steel ball is driven in.

\Configuration of surface is different.>

A Caution

’ Mounting screw tightening torques

M1.7: 0.12 N-m

Use caution to the assembly orientation for
solenoid valves, gasket, and optional parts.




Series SYJ5000
Manifold Specifications

Manifold Standard

Manifold Specifications

Model Type 20 | Type 40 | Type 41 | Type 42 | Type 43
Manifold type Single base/B mount
P (SUP), R (EXH) Common SUP, Common EXH
Valve stations 2 to 20 stations
A, B port Location Valve Base Base
Porting specifications Direction Top Bottom Side
P, R port 1/8 1/4 1/8
. M5 x 0.8, 1/8, C6
Port size A, B port 4 (One:fouch fiting for o4 M5 x 0.8 (One-touch Cf‘ .(One-touch
4 Onedouh g o) fitting for @e6)| fitting for o4)
Flow Characteristics
Port size Flow characteristics
Manifold ey C1 —4/2 (P—A/B) 2;/2_)5/3 (A/B>R)
Port | Port |dm¥sban]l ° | ©V |dmosbar) P | ©V
Body ported 1/8 |[M5x0.8] 0.46 0.39 | 0.12 0.75 0.32 | 0.19
T S$S85YJ5-20 |SyJs020| 1/8 C4 0.62 | 0.33 | 0.16 | 0.83 | 0.27 | 0.20
1/8 C6 0.79 0.36 | 0.21 0.91 0.36 | 0.24
SS5YJ5-40 1/8 |[M5x0.8] 0.55 0.35 | 0.15 0.64 0.26 | 0.16
Base mounted SS5YJ5-41 1/8 |[M5x0.8] 0.59 0.35 | 0.16 0.68 0.23 | 0.17
. ——— SS5YJ5-42-01 |SYJ5040| 1/4 | 1/8 074 | 022|018 | 0.82 | 0.31 | 0.21
$S5YJ5-42-C6 1/4 C6 0.71 0.24 | 0.17 0.8 0.29 | 0.20
SS5YJ5-43 1/8 C4 0.55 0.29 | 0.14 0.74 0.32 | 0.19

Q Note) Value at manifold base mounted, 2 position single operating

How to Order Manifold (Example)

SS5YJ5-43-03-C4 -
#*SYJ5140-5LZ -
* §YJ5240-5LZ
#* SYJ5000-21-1 A-vvvvvvvneenns

The asterisk denotes the symbol for assembly. Prefix it to the part nos. of the solenoid valve, etc.

2 pcs. (Valve)

. (Valve)
. (Valve)

1 pc. (Manifold base)

~~~~~ 1 pc. (Blanking plate assembly)

. (Manifold base)

----- 1 pc. (Blanking plate assembly)

Instruct by specifying the valves and blanking plate assembly to be mounted on the manifold along
with the manifold base model no.

Example: SS5YJ5-20-03
+*8YJ5120-5G-M5
# SYJ5000-21-1A--eevv

+ Use manifold specification sheet.

O

1-5-37




5 Port Solenoid Valve
Rubber Seal S

eries SYJ5000

Common SU Plcommon EXH Q Note) For more than 8 stations, supply air to both sides of P port and exhaust air from both sides of R port.

Type 20 (5 Port/Body ported)

How to Order

SS5YJ5-20— 05

Number of stations l

L;,‘ R port

Applicable solenoid valve
swsmzo-mmmm-“ég

SYJ5D23—DDDD—'\8A§
Applicable blanking

02 [ 2 stations thread type  plate assembly
] . Nil | Rc SYJ5000-21-1A
. 00F | G Applicable individual
20 |20 stat —
Taone 00N | NPT EXH spacer assembly 1\
00T | NPTF | SYJ5000-17-1A
How to Order Applicable solenoid valve |SZ
SYJ5040-0000 —
SS5YJ5— 40_ 05 - M5 SYJ5043-0000 SY
P port l—l i SYJ5050-0000 I
Stations P, R port SYJ5053-0000
02 | 2 stations thread type Applicable blanking
Nil | Rc plate assembly PV
2'0 2 — F | SYJ5000-21-1A SX
stations N | NPT Applicable individual
T | NPTF EXH spacer assembl
A, B port size P y
[ms| msxos Applicable individual
SUP spacer assembly
ARBYJ5000-00-P
How to Order
Stations .—J H
02 | 2 stations P, R port
. . thread type
20 |20 stations Nil Rc
F | G
A, B port size N NPT
‘ M5 ‘ M5 x 0.8 T NPTF
Applicable solenoid valve
How to Order SYJ5040-0000
SS5YJ5- 42— 05 HC6 SYJ5043-0000
SYJ50150-0000

Stations »—‘

02 | 2 stations

20 |20 stations

Thread type

A, B port size ¢ NI | Re
01 1/8 F G
C6 | One-touch fitting for 06 N NPT
N7 | One-touch fitting for g1/4" T NPTF
How to Order
Stations I
02 | 2 stations
: P, R port ¢
- thread type
20 (20 stations .
Nil Rc
A, B port size ¢ F G
C4 | One-touch fitting for o4 N NPT
N3 | One-touch fitting for 05/32" T NPTF

SYJ5053-0000

Applicable blanking
plate assembly
SYJ5000-21-1A
Applicable individual
EXH spacer assembly
SYJ5000-17-1A
Applicable individual
SUP spacer assembly
SYJ5000-16-2A

Applicable individual
SUP spacer assembly
ARBYJ5000-00-P

O
:

1-5-39



5 Port Solenoid Valve

Rubber Seal Series

Mix Installation of the SYJ500 and the SYJ5000 Valves on the Same Manifold

Interface Regulator (P port regulation)

® Use of an adapter plate makes it possible to mount Series SYJ500 on the manifold bases of
series SYJ5000.

® When mounting the SYJ500 valve on the SYJ5000 manifold, the SYJ500 solenoid must be posi-
tioned on the same side of the manifold as a single solenoid SYJ500. (Refer to the figure below.)

® For base mounted style, the A port of the 3 port valve flows out the B port of manifold base.

Adapter plate assembly

. Round head combination screw
i M2.5 x 25,
Matt nickel plated

,,,,,,,,,,,,,,

Gasket

Round head combination screw

SYJ500-5-4 ™\ Round head combination screw g
&?/ M2.5x 9, @/ ey

ﬁ 1 Matt nickel plated Matt nickel plated

(with spring washer)

¢

1 3 3 Adapter plate
} l|||. ! ! S} SYJ500-3-1
| | T ! |
1 @ 1 SYJ500-3-1 P P Adapter gasket
| o | T SYJ500-6-1
[ o ' [
Adapter gasket 1 b Applicable manifold base
SYJ500-6-1  tmmmmmmee--

Type SS5YJ5-40
Type SS5YJ5-41
Type SS5YJ5-42
Type SS5YJ5-43

Individual SUP Spacer Assembly

Applicable manifold base
Type SS5YJ5-20

Individual EXH Spacer Assembly

SYJ5000-17-1A SYJ5000-16-2[ |A
Round head combination screw Round head combination screw s == -~ --------- ' L
M2.5 x 36, M2.5 x 40, ! Thread type
Matt nickel plated Matt nickel plated : Nil | Rc
(with spring washer) (with spring washer) ! F G

N | NPT

! T NPTF

/lndividual EXH spacer
SYJ5000-17-1

/Individual SUP spacer
SYJ5000-16-20

Applicable manifold base

Type SS5YJ5-20
Type SS5YJ5-40
Type SS5YJ5-41
Type SS5YJ5-42
Type SS5YJ5-43

Type SS5YJ5-41
Type SS5YJ5-42
Type SS5YJ5-43

O
:

Spacer type regulating valve on manifold block
can regulate the pressure to the valve
individually.

ARBYJ5000-00-P

|

|

|

1 Round head

: combination screw
IM2.5 x 45,

 Matt nickel plated
, (with spring washer)

|
|
A S Y A
|
|
1 Gasket ”
|DXT192-10-16

Applicable manifold base

| \Applicable

| imanifold base

I 'Type SS5YJ5-40

| y Type SS5YJ5-41

****************** Type SS5YJ5-42
Refer to page 1-5-80 Type SS5YJ5-43
prior to handling.

/\ caution

’ Mounting screw tightening torques

M2.5: 0.45 N-m

SYJ5000

Use caution to the assembly orientation for
solenoid valves, gasket, and optional parts.

1-5-41




Series SYJ5000
Type 20: Top Ported/SS5YJ5-20-|Stations|-000] Q[ I AC

Grommet (G)

o|=
g
g Yo
d 9
Z
a (Pitch)
F— P=16 21 YNl
=}
=2
_ H o [28125| |8 @-,5‘
© [
5 | lad 3 |z ]@ 1O
SE9gn Slol€ @] & SR &
1 os| B> & = | = [ToT SRS
Kol ¥Z - Z o N =
SN S N P\
~ N S '
© ___4-04.5© ’i 1/8
Bl T (For mounting) (P, R port)
M5 x 0.8
Manual override L2 9 (A, B port)
L1
Built-in One-touch fitting
(Station n)------- (Station 1)
(Light/Surge voltage suppressor)
o [ 19
ITs) {dd]
To) b ‘@
2\ <
=
Bk —— o
2|3 8
(3.2) | 52.8
L plug connector (L) M plug connector (M) DIN terminal (D) M8 connector (WO)
=5
32
e
2 2
E "
<5 %lpg7 Applicable cable O.D.
g 2 0351007
= (Lead wire length)
Approx. 300 59.7 [66.7] M8 x 1
g I [
5] H d E“ i
~| < T @ B o T @ o 4 T o L T @ <
[ - — — - J [} — :
= 18 o & a3 3 R =\ R PSR i NE
Q= ® N 0| < ® 3 o © - e ® ~| &
~ 2 o S )| L - (=] - | =
o I~ — : o]
- @ = | ® ‘@ N © 5 2 e} ©
— L N~ B s} {a R © L———
= [ e ’ &
S I [L 3
© 35.6 (=}
o | L o |oD © S 53.1
48.6 [55.6] S 62.6 p .
73.9
81.4
Q Refer to page 1-5-79 for dimentions
with connector cable.

Station n | Station2| 3 4 ) 6 7 8 9 10 11 12 13 14 15 16 17 18 19 |Station 20

L1 58 74 90 106 122 138 | 154 | 170 | 186 | 202 | 218 | 234 | 250 | 266 | 282 | 298 | 314 | 330 346
L2 40 56 72 88 104 120 | 136 152 168 | 184 | 200 | 216 | 232 | 248 | 264 | 280 | 296 | 312 328
1-5-42

O
5



Type 40: Bottom Ported/SS5YJ5-40-Stations|-M50]

5 Port Solenoid Valve

SYJ5000
Q[ I AC

Rubber Seal Series

Grommet (G)

Approx. 300
(Lead wire length)

4-04.5

/ (For mounting)

G|

16.5

103.2 [107.6]

44.2 [46.4]

22.1].36.9

(DIN'23.3)[(DIN 38.1)

21.5121.5]|

(DIN 22.7Y|[(DIN 22.7)
87.2[91.6]

43.6[45.8]| 235 \

(Station n)------

(Pitch)
P=16

21

Manual override

(Station 1)

= Hﬁ 8.5 L
=5 5Z_
5

(P, R por) SL

) T MMMM (Light/Surge voltage suppressor) Built-in speed controller
% B"G
ol
%) | &
M5 x 0.8 -
(A, B port) @
%6 6 o f— I
<
©® 0 o d> s t &
Max. 13.5 | 43.5
Pltch
23
L plug connector (L) M plug connector (M) DIN terminal (D) M8 connector (WO)
8 =
@ D
%| @
oo o
as - .
<o % Applicable cable O.D.
8 =| Pgr 035t0 07
= (Lead wire length)
Approx. 300 59.7 [66.7]_ N M8 x 1
C | =
- |, - @] @ i
N &} S| @ © o =0 |4 I
o = iy I & al NYE s ~l T8
Q= A= ol < Tl TN 1 R -3 O 38—
N y Q= - -
5 o s 0% —te o o)
= ~ © e L o 3
10 o o i @ ©
I <
[Te) © f’ o
4 ©
o : © 62.6 © ° 53.1
48.6 [55.6 ; 5
[55.6] oS 73.9 S
81.4
Q Refer to page 1-5-79 for dimentions
with connector cable.

Station n|Station2| 3 4 5) 6 7 8 9 10 11 12 13 14 15 16 17 18 19 |Station 20
L1 58 74 90 106 | 122 | 138 | 154 | 170 | 186 | 202 | 218 | 234 | 250 | 266 | 282 | 298 | 314 | 330 346
L2 40 56 72 88 104 120 | 136 | 152 168 | 184 | 200 | 216 | 232 | 248 | 264 | 280 | 296 | 312 328

1-5-43

O
5



Series SYJ5000

Type 41: Side Ported/SS5YJ5-41- Stations|-M50]

Q[ ]:AC

Grommet (G)
ol
32
x| 2
ole
8= L1
<o .
S 4.5 L2 Manual override
—
2-95.5
(For mounting)
j g
= 4 J%& / =
Q| & U@ — < ol =
o S (3 [ 4l o3 o 2
5| o|slz | & _22 35
2| | ™Z Yol B2 B o
o 1S |oP a8 R
gl ofs SliEsi== < @
o ol ol o™
- Qi - ol “2©
N 0
72 g ] ] Z
a T Q
i (Pitch)
18 P=16
(Station 1)------- (Station n)
(Light/Surge voltage suppressor)
g’-’ B | P
—| | | o
©f A © © © ©
all ™ 0} <
10 50 6 o 9 © ®l
(Pitch) 0
23 P=16 L0
M5 x 0.8
(A, B port)

~
ey
A
ik
A
Wi~
\ 1/8

Built-in speed controller

Max. 13.5

47.5

<
&

L plug connector (L) M plug connector (M) DIN terminal (D) M8 connector (WO)
85.4
77.9
52.6 g579-26] © N 66.6 © M8 x 1 57.1
© : = © 39.6
=} ©| =) ©
o, # < S,
i,, ~ -dIL—rb = © ;t ; 0 \-F’_‘
—| H ~ — — <] i o) ©
| = =|® o ~ ~ o o
5| & o = (&2 & S Nk &5
N b= 3 | @ N8 Vel g oY
— O < b - — )
=S & N & 3 1O g® &\ 5
S ) 3 0 " E p
= o a o — || \ o
L \\ T
Approx. 300 63.7 [70.7] I
(Lead wire length)
= Pg7
o .
% - Applicable code O.D.
o8 % 23.5t0 07
gl e
@l =
x| Z
Slo
g3
<<
Q Refer to page 1-5-79 for dimentions
with connector cable.

Station n | Station2| 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 |Station 20
L1 52 68 | 84 | 100 | 116 | 132 | 148 | 164 | 180 | 196 | 212 | 228 | 244 | 260 | 276 | 292 | 308 | 324 | 340
L2 43 59 | 75 91 | 107 | 123 | 139 | 155 | 171 | 187 | 203 | 219 | 235 | 251 | 267 | 283 | 299 | 315 | 331

1-5-44

O
5



5 Port Solenoid Valve

Rubber Seal Series

Type 42: Side Ported/SS5YJ5-42-[Stations-01, (S0

SYJ5000

Q[ ]: AC

Grommet (G)

For ﬁgEl (Built-in One-touch fitting)

For 010
8 =
® D
x| 8
Sle
g's L1 Manual override
<13 65 L2
S - 2-¢6.5
(For mounting)
TR T B g
—|~| oLl LA < o =
e R H=H = 8@ Par) ar)
'5 N p= s a fa ta 1/ wo|<F ol > A << A « g
= 8|95 p ol o) | o | (Y2 3| AN AN
| Cy ST N L v W
[} > © H H
=} | wl—~ 0 = =
ST = SIS . S . 3
I AT g 1/4 1/4
Zloas| |poY = . R por) ®. R por)
o
(Station 1)- - - - (Station n)
. (Station 1)- - - - «(Station n)
(Light/Surge voltage suppressor) Built-in speed controller (Light/Surge voltage suppressor)
o Max. 13.5 56.5 )
3 - 3
= \ =
oS [0 0606 o ., EE b e
© B OO O OG18" 5 5 &
6 0 i 0
) o0 ¢ ) o}
245 F£P=|t<1h7) 1/8 B{j ‘ & 33 P(F:tﬁhg One-touch fitting
(A, B port) R (A, B port)

L plug connector (L)

M plug connector (M)

Applicable tubing O.D.: @6, @1/4"

Q * Other dimensions are the same as the grommet type.

DIN terminal (D)

M8 connector (WO)

94.4
86.9
61.6 [GB-GL © 75.6 © M8 x 1 66.1
© 46.2 S | S © 48.6
o © Lr [=) L - ©
S F» T o
- —h 5 i e R ;Et 1 e J T
- < ] ©Q s V] < d Y]
NE= ol | — ©, © — IS} 1<) :
—| = ~ hand [ by I LA - < =S & ©
=i o 3% 13 = I 2 A e e R R
ol —| H ™| © k Py
— N 9_ L
f — L —
Approx. 300| | 72.7[79.7] LA —
(Lead wire length) 4
< Pg7
o =4 2 g Applicable code O.D.
Sle % 23.510 07
= =
x| 3
Olo
CE]
Q Refer to page 1-5-79 for dimentions
with connector cable.
A Bporsize| Station n |Station2| 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 [Station 20
For 1/8 L1 66 83 100 | 117 | 134 | 151 | 168 | 185 | 202 | 219 | 236 | 253 | 270 | 287 | 304 | 321 | 338 | 355 | 372
L2 53 70 87 | 104 | 121 138 | 155 | 172 | 189 | 206 | 223 | 240 | 257 | 274 | 291 308 | 325 | 342 | 359
For L1 65 81 97 | 113 | 129 | 145 | 161 177 | 193 | 209 | 225 | 241 | 257 | 273 | 289 | 305 | 321 | 337 | 353
C6IN7| L2 52 68 84 | 100 | 116 | 132 | 148 | 164 | 180 | 196 | 212 | 228 | 244 | 260 | 276 | 292 | 308 | 324 | 340
1-5-45

O
5




Series SYJ5000

Type 43: Side Ported/SS5YJ3-43-Stations|-§; (]

Grommet (G
ol
82
| 2
[l
4E L1
%E 4.5 L2 Manual override
—
ll 2-05.5
(For mounting)
5.' d ﬁ 4 8
o & Jo ey e 2| 5
~IN[elF | i o - 5
28 <z [ NEAEEEY
| S =@ o8 18
o] N — ©
o S YV
A = o<
§ ] 4
a
o .
o (Pitch)
<|z 18 P=16
©|5
(Station 1)-------- (Station n)
(Light/Surge voltage suppressor)
—| n : N : e
2 £
3 T Pl
=l ; ;
© . (A A
AR A D %
5% | & S AL
B Btol ™

22.3

P=1

(Pitch)

6

One-touch fitting

(A, B port)

Applicable tubing O.D.: g4, 95/32"

12 1/8
(P, R port)
are
Y o o
o5
[ ===
<
- <
F= - 3

Built-in slottle valve

Max. 13.5 47.5

i

—{ 6
Ao

L plug connector (L) M plug connector (M) DIN terminal (D) M8 connector (WO)
85.4
77.9
52.6 [59.6
[37 2] © 66.6 © M8x1 57.1
© 202 o o ° © 39.6
o l © L‘ o ©
=y i :
N S - |
= U ¥ - 3 s t ® - ~
o Dlq =2 oo S| S Q8
~| T ~ 5= ol g | oo o o
5= ol 25 ER O Mg o3 ol |32
al? [ %’%L | © - = ggl: e A
- = ! - | -
Approx. 300 63.7 [70.7]
(Lead wire length)
= o| Pg7
o g - Applicable code O.D.
= E g 23.5t0 07
NE
Olo
g8
<<
Q Refer to page 1-5-79 for dimentions
with connector cable.

Station n | Station2| 3 4 5 6 7 8 9 10 11 12 13 14 15 | 16 17 18 19 |Station 20
L1 52 68 | 84 | 100 | 116 | 132 | 148 | 164 | 180 | 196 | 212 | 228 | 244 | 260 | 276 | 292 | 308 | 324 | 340
L2 43 59 75 91 107 | 123 | 139 | 155 | 171 187 | 203 | 219 | 235 | 251 | 267 | 283 | 299 | 315 331

1-5-46

ZSNC



5 Port Solenoid Valve

Rubber Seal Series

Mix Installation of the SYJ500 and the SYJ5000 Valves on the Same Manifold

Interface Regulator (P port regulation)

® Use of an adapter plate makes it possible to mount Series SYJ500 on the manifold bases of
series SYJ5000.

® When mounting the SYJ500 valve on the SYJ5000 manifold, the SYJ500 solenoid must be posi-
tioned on the same side of the manifold as a single solenoid SYJ500. (Refer to the figure below.)

® For base mounted style, the A port of the 3 port valve flows out the B port of manifold base.

Adapter plate assembly

. Round head combination screw
i M2.5 x 25,
Matt nickel plated

,,,,,,,,,,,,,,

Gasket

Round head combination screw

SYJ500-5-4 ™\ Round head combination screw g
&?/ M2.5x 9, @/ ey

ﬁ 1 Matt nickel plated Matt nickel plated

(with spring washer)

¢

1 3 3 Adapter plate
} l|||. ! ! S} SYJ500-3-1
| | T ! |
1 @ 1 SYJ500-3-1 P P Adapter gasket
| o | T SYJ500-6-1
[ o ' [
Adapter gasket 1 b Applicable manifold base
SYJ500-6-1  tmmmmmmee--

Type SS5YJ5-40
Type SS5YJ5-41
Type SS5YJ5-42
Type SS5YJ5-43

Individual SUP Spacer Assembly

Applicable manifold base
Type SS5YJ5-20

Individual EXH Spacer Assembly

SYJ5000-17-1A SYJ5000-16-2[ |A
Round head combination screw Round head combination screw s == -~ --------- ' L
M2.5 x 36, M2.5 x 40, ! Thread type
Matt nickel plated Matt nickel plated : Nil | Rc
(with spring washer) (with spring washer) ! F G

N | NPT

! T NPTF

/lndividual EXH spacer
SYJ5000-17-1

/Individual SUP spacer
SYJ5000-16-20

Applicable manifold base

Type SS5YJ5-20
Type SS5YJ5-40
Type SS5YJ5-41
Type SS5YJ5-42
Type SS5YJ5-43

Type SS5YJ5-41
Type SS5YJ5-42
Type SS5YJ5-43

O
:

Spacer type regulating valve on manifold block
can regulate the pressure to the valve
individually.

ARBYJ5000-00-P

|

|

|

1 Round head

: combination screw
IM2.5 x 45,

 Matt nickel plated
, (with spring washer)

|
|
A S Y A
|
|
1 Gasket ”
|DXT192-10-16

Applicable manifold base

| \Applicable

| imanifold base

I 'Type SS5YJ5-40

| y Type SS5YJ5-41

****************** Type SS5YJ5-42
Refer to page 1-5-80 Type SS5YJ5-43
prior to handling.

/\ caution

’ Mounting screw tightening torques

M2.5: 0.45 N-m

SYJ5000

Use caution to the assembly orientation for
solenoid valves, gasket, and optional parts.

1-5-41




Series SYJ7000
Manifold Specifications

Manifold Standard

Manifold Specifications

Model

Type 20 Type 21

Type 40

Type 20 Type 42

Manifold type

Sing

le base/B mount

P (SUP), R (EXH)

Common

SUP, Common EXH

Valve stations

2to 15 stations [

2 to 20 stations

A, B port Location Valve Base Base
Porting specifications Direction Top Bottom Side
P, R port 18 | 1/4
Port si 1/8 %6 .(OnfG'tOUC)h
ort size C6 (One-touch fitting for @6) itting for 06
A Bport C8 (One-touch fitting for #8) /8 C8 (One-touch
fitting for @8)
Flow Characteristics
Port si Flow characteristics
Manifold CEES 14/2 (P—A/B) 4/2—5/3 (A/B—R)
aniio
1(),553R)[2(B), 4(A)| C b Cv C b Cv
port port  ([dm3/(s-bar)] [dm¥/(s-bar)]
1/8 | 1/8 2.2 0.35 | 0.57 2.3 0.26 | 0.55
SS5YJ7-20 1/8 | C6 1.4 0.32 | 0.37 2.0 0.25 | 0.49
Body ported 1/8 (of] 1.7 0.38 0.45 2.1 0.25 0.51
it SYJ7020(" 44 [ 1538 | 21 | 036 | 055 | 2.3 | 0.26 | 0.54
SS5YJ7-21 1/4 | C6 1.4 0.32 | 0.36 2.1 0.24 | 0.50
1/4 | c8 1.8 0.37 | 0.50 2.1 0.20 | 0.50
SS5YJ7-40 1/4 | 1/8 2.1 0.28 | 0.51 25 0.23 | 0.59
Base mounted [SS5YJ7-41 1/4 | 1/8 20 [o030[050| 22 |o030] 055
forinternal piot | §55vJ7-42-C6| Y7040 [ 14 | ce 15 | 032 | 038 | 22 | 023052
SS5YJ7-42-C8 1/4 | C8 1.9 0.24 | 0.46 2.2 0.26 | 0.53

Q Note) Value at manifold base mounted, 2 position single operating

How to Order Manifold (Example)

the manifold base model no.
Example: SS5YJ7-20-03
*SYJ7120-5G-01 -

* SYJ7140-5LZ
* SYJ7240-5LZ

#* SYJ7000-21-1A -ovevveveee

SS5YJ7-41-03-01 e

#* SYJ7000-21-1A -ooevveevee

1 pc. (Manifold base)
2 pcs. (Valve)

Manifold base)
Valve)
Valve)

----- 1 pc. (Blanking plate assembly)

Blanking plate assembly)

Instruct by specifying the valves and blanking plate assembly to be mounted on the manifold along with

The asterisk denotes the symbol for assembly. Prefix it to the part nos. of the solenoid valve, etc.

+ Use manifold specification sheet.

O
5

1-5-61




5 Port Solenoid Valve
Rubber Seal Series SYJ7000

Manifold Standard/
Common SUP/Common EXH

How to Order

sssw7—2o—*. - or
ns \—J—. :;;r:a% t)t/pe

Statio - Applicable solenoid valve
02 | 2 stations Nil | Re o1
00F | G SYJ7020-0000-C6
15 (15 stat 00N | NPT cs8
stations 01
Q 00T | NPTF |  §yy70123-0000-Ce
Note) For more than 6 stations, supply air to both sides of P port and exhaust air from both sides of R port. c8

How to Order Applicable blanking

plate assembly
SSSYJ7_21 _ - SYJ7000-21-1A
P, R port

Stations Applicable individual
02 | 2 stations thread type EXH spacer assembly
_ Nil | Re SYJ7000-17-1A
00F | G
20 |20 stations 00N NPT

Q 00T | NPTF
Note) For more than stations, supply air to both sides of P port and exhaust air from both sides of R port.

Type 40 (5 Port/Base mounted) How to Order

SS5YJ7-40-[05+01 | |

Stations I Lm‘ lThread type

02 | 2 stations 1/8 | Nil | Rc
: : F G
- N NPT . .
20 |20 stations e NPTE Applicable solenoid valve
Q SYJ7040-0000
Note) For more than 10 stations, supply air to both sides of P port and exhaust air from both sides of Rport. - gy j7143-00000)

Type 41 (5 Port/Base mounted) How to Order

A1 Applicable blanking
SS5YJ7-41-[ 05 |- 01 plate assembly
Stations I iA, B port size lThread type SYJ7000-21-1A

02 | 2 stations 1/8 [ Nil Rc Applicable individual
: : F | G EXH spacer assembly
20 |20 stations N NPT SYJ7000-17-2A

Q T | NPTF

Note) For more than 8 stations, supply air to both sides of P port and exhaust air from both sides of R port. gﬁg‘lcable Ind“"duball
spacer assem

rt/Base mounted) How to Order P y

SS5YJ7-42-[05 HC6|[ | SYJroo0-1e:2A
l—l Applicable interface
Stations A, B port size LThread type re‘g:]lator
02 | 2 stations C6 | One-touch fitting for o6 Nil Rc ARBYJ7000-00-P
: C8 |One-touch fitting for 8 F G
20 |20 stations N7 |One-touch fitting for @1/4" N _| NPT
T

N9 |One-touch fitting for 05/16" NPTF
Note) For more than stations, supply air to both sides of P port and exhaust air from both sides of R port.

Flat Ribbon Cable Manifold/
Common SUP/Common EXH

Type 21P (5 PortlBody ported) How to Order Applicable solenoid valve

SS5YJ7-21P-|05 H | Refer to page 1-5-62.

Applicable blanking

Stations P, R port plate assembly
03 | 3 stations thread type SYJ7000-21-3A
Nil Rc .
: - F |G Applicable connector
12 |12 stations N NPT assembly
Q T | NPTF Refer to page 1-5-62.
Note) For more than 10 stations, supply air to both sides of P port and exhaust air from both sides of R port.

SVC 1-5-63

O




Series SYJ7000

Combinations of Solenoid Valve, Manifold Gasket and Manifold Base

Mix Installation of SYJ700 and SYJ7000 Valves on the Same Manifold

Round head combination screw

M3 x 31
Matt nickel plated
(with spring washer)

Q

J
|
1 Gasket

T | DXT199-21-10

Applicable manifold base

Type SS5YJ7-20
Type SS5YJ7-21

Round head combination screw

M3 x 31
Matt nickel plated
(with spring washer)

e

|

I
§ ?\ Gasket
i DXT199-21-11

Applicable manifold base
Sub-plate
Type SS5YJ7-40

Type SS5YJ7-41
Type SS5YJ7-42

Individual EXH Spacer Assembly

SYJ700017-10IA . riread type
'Round head | [Nil [Re
»combination screw U 1 ": (I\JIPT
M3x47 1

:Matt nickel plated H ; LT _INPTF
 (with spring washer) >

Individual EXH

iManifoId @&
rgasket - ‘
|

DXT199-21-10

'
'
(R A A '

Applicable manifold base

Type SS5YJ7-20
Type SS5YJ7-21

Individual SUP Spacer Assembly

SYJ7000172LIA . rivead ype
 Round head ' | Nil |Rc
 combination screw H ! l'\:l ﬁPT
T3 x 47 !
 Matt nickel plated H r LT _INPTF
 (with spring washer) c oS

!Individual EXH
'spacer

| |
1gasket | ‘

DXT199-21-11 i |

'
'
A g e . )

Type SS5YJ7-40
Type SS5YJ7-41
Type SS5YJ7-42

Applicable manifold base

Interface Regulator (P port regulation)

® Use of an adapter plate makes it possible to mount Series SYJ700 on the

manifold bases of series SYJ7000.

® When mounting the SYJ700 valve on the SYJ7000 manifold, the SYJ700
solenoid must be positioned on the same side of the manifold as a single
solenoid SYJ700. (Refer to the figure below.)

® For base mounted style, the A port of the 3 port valve flows out the B port

of manifold base.

Adapter Plate Assembly Adapter Plate Assembly

SYJ700-3-1A

SYJ700
Series
Body ported

M3 x 31, Matt nickel plated
1 (with spring washer)

+Round head combinaton screw 6

* M3 x 10, Matt ickel plated g‘ !

1(with spring washer) 35

1 Adapter plate

1SYJ700-3-3 QS

i O-rin \ (@)
SYJ300-9-5 \@@

Applicable manifold base

Type SS5YJ7-20
Type SS5YJ7-21

SYJ700-3-2A

SYJ700
Series
Base mounted

1 Round head combination screw

‘M3 x 38, Matt nickel plated ™
1 (with spring washer)

3 Round head combination screw

M3 x 31, Matt nickel plated
' (with spring washer)

Round head combination screw

. Adapter plate
18YJ700-3-2

Manifold gasket

DXT199-21-11

Applicable manifold base
Type SS5YJ7-40
Type SS5YJ7-41
Type SS5YJ7-42

L Blanking Plate Assembly

SYJ7000-21-1A

%\Round head combination screw

SYJ7000-16-2[ A

Spacer type regulating valve
can regulate the pressure to

i Round head ;

' combination screw ' ARBYJ7000-00-P

M3 x 47 AN R I e

Matt nickel plated > Thread type E{  hezd combii }

(with spring washer) 8 NIl 1Rc 1 Round head combinafion screw & |

F |G I M3 x 55 \

N _[NPT | |Mattnickelpeted [

T |[NPTF | (with spring washer) ‘ }

[

2

¢ Individual

! 0
A
3 ~ ‘ |

'Manifold
' gasket | ‘

A\ Caution

3 Applicable manifold base
1 Type SS5YJ7-40
1 Type SS5YJ7-41
1 Type SS5YJ7-42

}Gasket

on manifold block
the valve individually.

M3 x 8
Matt nickel plated
(with spring washer)

Applicable
manifold base

Type SS5YJ7-20

SYJ7000-21-1

’\\_" Gasket Type SS5YJ7-21

<= DXT199-21-13 Type SS5YJ7-40

Type SS5YJ7-41

SYJ7000-21-3A Type SS5YJ7-42
[ . >

Base mounted

‘| Applicable manifold base
| Type SS5YJ7-40
I Type SS5YJ7-41
| Type SS5YJ7-42

Dust cap

SY3000-42-1

Round head combination screw‘\

g 8

M3 x
Matt nickel plated

% (with spring washer)
Blanking plate
&‘ SYJ7000-21-1 |

Gasket
Nl DXT199—21—1_\?J

PR

Applicable manifold base
Type SS5YJ7-21P

! m Refer to page 1-5-80 prior to handling.

l Mounting screw tightening torques ‘ l Use caution to the assembly orientation for solenoid valves, gasket, and optional parts. ‘

M3: 0.8 N-m

1-5-64



5 Port Solenoid Valve

Rubber Seal Series

Type 20: Top Ported/SS5YJ7-20-|Stations|-00C]

SYJ7000

Q[ ]: AC

Grommet (G)
ol
(=B
“ls
gg L1 4-04.5
23 L2 6 (For mounting)
B 0|5
O
5 z
- o_ 15.5
Y] — [ ~ —
™ Z [ LI *§¢ ™ L 8
S8 26 = =
S ~ A u i s =) M ey
© | & ?/ © - * A4 TG w
@ A © — ~
-:-',:‘mgoe}e}e}ﬁ}\’ﬂ_,\mﬁ,_,a \Jj'_mo
[ N~ [ ~y © o) 52 < ~ wn
N5l bz o] DO Bl Ol Qe 8z 8/ 1 =
0 e :U_ b P p b n&_ e ~ = .
Q ][ el [e]] [e]] & R = 1/8
y 3 (P, R port)
) 1/8
Manual override (Pitch)
P=19 20| ABpo
Built-in One-touch fitting
(Station n)--------- (Station 1)
(Light/Surge voltage suppressor) One-touch fitting H T L
. (A, B port) Te
i) i Applicable tubing O.D.: @
o 26, 21/4" L
o _ 28, 95/16"
0| S L
| F[ 2 po—— ©
o «
(4.9) | 60
L plug connector (L) M plug connector (M) DIN terminal (D) M8 connector (WO)
==
& E’ Applicable cable O.D.
X % ° 23.5t0 07
‘g = 55.5 [62.5] - 89
<
5 40.1 § Pg7 81.5
= i 70.2
(Lead wire length) N M8 x 1
Approx. 300 66.6 [73.6] /7X
i ph % ph ;& ] 3 ] 3
~| | = M = i { © = ®
ol@ °© ) S|l °© ® 5 ®
Sk < S < ol @ o2 <l @ ol
| = § — N| o - ~| 0 N ~|0 J o
-l g NS © i Y a o=
IIN S e o = ;
5 oz U o3 | Oe || |5 =108
4 8 L ( " 2 ﬁ{ — @ =
o T IR ﬁ' o 425 | @
S of OO o S 60
© =}
Q Refer to page 1-5-79 for dimentions
with connector cable.
Stationn |Station2| 3 4 o) 6 7 8 9 10 11 12 13 14 |Station 15
L1 59 78 97 116 | 135 | 154 | 173 | 192 | 211 | 230 | 249 | 268 | 287 306
L2 47 66 85 104 | 123 | 142 | 161 | 180 | 199 | 218 | 237 | 256 | 275 294
1-5-65

O
5

SV
SZ
SY

SX




Series SYJ7000

Type 21: Top Ported/SS5YJ7-21- Stations| (-000)

Q[ I: AC

Grommet (G)
8l
3|2
|2
2| g L1 4045
= § L2 10 / (For mounting)
-
© )
o 5 165
i Z s 3 Z
3E T 4] = ] [
—y= T
F If I —_ Uﬁﬁy
> & o | Bt @ F L /cc s «Q o QE% o
Y 4 M ) hat = ®
.‘:.Fco%,\I &J€}€}€}€> &LQ%O'?_E E)‘ N S
| Q| alj=> B P
8 89z «:fcl}@)@gew& R éa
0 = o u@ b b b b o = Nl O 4 '
< | ™ Q'
@ — ol lel] el ] ]e @ .
b i 1/4
[ (P, R port)
Manual override (Pitch) 1/8
P=19 23.5| (A Bpor)
Built-in One-touch fitting
(Stationn)---------- (Station 1)

(Light/Surge voltage suppressor)

One-touch fitting

— I (A, B port) _
0 Applicable tubing O.D.:
38 06, 01/4"
0| o © 28, 5/16"
8| Y g
Y

(4.9 | 63
L plug connector (L) M plug connector (M)  DIN terminal (D) M8 connector (WO)
08,) % Applicable cable O.D.
x| 2 03.5to 07
Sle
55 58.5 [65.5] 2 gi -
< T x .
@ . S| Pg7
g 43.1 g Pg 732
(Lead wire length)
Approx. 300 69.6 [76.6] J M8 x 1
il ;1[ _:ﬁ N2 ll
| [
— = = - gL. " =]
[SV) )
Qe @ U@ gl o U@ S U@ © o U@ N
-l ® = _ 3« < Q= Qg
2|5 D 3 g O g aER NNER @D 2
N~ o] o [e'e) © [Te)
=N ‘ @ F|e ‘ ] ; - Qi ) @
S D) o D) g S D) s 8 .
! 3 t - - {. i - % )
® ' S L f’ © 45.5 a
S o @D © S 63
S S
Q Refer to page 1-5-79 for dimentions
with connector cable.

Station n [Station 2] 3 4 5 6 7 8 9 10 [ 11 [ 12 [ 13 [ 14 | 15 17 [ 18 | 19 [Station 20
L1 66 85 | 104 | 123 | 142 | 161 | 180 | 199 | 218 | 237 | 256 | 275 [ 294 | 313 [ 332 | 351 | 370 | 389 | 408
L2 46 65 84 | 103 | 122 | 141 [ 160 | 179 | 198 [ 217 | 236 | 255 [ 274 | 293 [ 312 | 331 | 350 | 369 | 388

1-5-66

o
5



5 Port Solenoid Valve
Rubber Seal S

Type 40: Bottom Ported/SS5YJ7-40-[Stations|-010]

eries SYJ7000

Q[ 1:AC

ol
Grommet (G) ® 2
|2
S L1 4-04.5
£ 8 L2 0 (For mounting)
© —~ 16.5
21 1n o~ h1.5
OZ 1 r wZ .
Qe | M 3{ —a It .05
?' Ir I '5‘ ™
S @ |2l I 8_| - S7ap =
SN w9 S = s
=gl e "I“’ © G| = 3
IR =z & %‘ %‘ 4‘ 4‘ o | ©lZ 9| = —
~5l 18 |t ‘ ol ar ¥
2 g E) @ = 9,'; e
© O ® o 1/4
u Bl (P, R port)
Manual override E:)P:tc:'g 035
(Station n)------- (Station 1)
(Light/Surge voltage suppressor)
75y C‘E 'Iﬁéﬂ%'lgﬁéf
8l o dtyjdt &
B9l
¥«
rfirfirfirfirfi
cD. D D DD s
— <
=0, O O O b
A )
pi| 1/8
5 | (A Bpor)
(Pitch) | ~4-2
P=19 23.5
L plug connector (L) M plug connector (M)  DIN terminal (D) M8 connector (WO)
g% Applicable cable O.D.
| 8 23.5t0 07
e =)
gz 58 [65] = 918-2
8 ©
— (Lead wire length) N
Approx. 300 69.1 [76.1] g M8 x 1
 — =
] % _:@ T o
| = L 7y T £ ; = B
g @ © 8| & D 1 |o D 1 |
52 ) == o 3 o<l Qe o
@ o O 2 N S8 e O | 158 8 & |2
TN © |- 213 S 3 ® ©
— [s2] — ® - { & - M
i o f t
%ﬂ @ 1 -
w ﬁ
of s L - L4 | @
© © m © o 62.5
<) o
Q Refer to page 1-5-79 for dimentions
with connector cable.

Station n |Station2| 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 |[Station 20
L1 66 85 104 | 123 | 142 | 161 | 180 | 199 | 218 | 237 | 256 | 275 | 294 | 313 | 332 | 351 370 | 389 408
L2 46 65 84 | 103 | 122 141 | 160 | 179 198 | 217 | 236 | 255 | 274 | 293 | 312 331 350 | 369 388

1-5-67

O
5

SV
SZ

SYJ

<




Series SYJ7000
Type 41: Side Ported/SS5YJ7-41-|Stations|-010]

Q[ I: AC

Grommet (G) gl
® 2
x| 8
oo
8is L1
<
3 14 L2
=
31.5
I ‘ 20.5
_ - ‘ al = -
P e | Fan
gl = |7 - & B U5
z D ol < b= A @
©| »l© i i D MmO | o
5188 [® L L | otz 8| [\ of o} @
~ -0
8|S |- 19 E 9%y B |5 Q=
= | { 4 f_ 1/4
0[O = vt (P, R port)
®| S8 L] IR
e (Pitch) 4-94.5
29 P =20 (For mounting)
Manual override
(Station 1)--------- (Station n)
(Light/Surge voltage suppressor)
o]
Do
Rl |~ o o =
==
8 D) 15
65 (Pitch) 1/8
25 P =20 (A, B port)
L plug connector (L) M plug connector (M) DIN terminal (D) M8 connector (WO)
106.5
99
73 ?7013 © 87.7 ©  M8x1 775
© . o q - © 60
=} l ] # o ee}
o A o
P I — ; E i
= 0 [l — ey N 1 - =

@ g S5 | O s 3 O Je

2|2 | €= o "] 89

=S @ |8 o D |3 g2 D | 5 9k @ |2y

N NS - Tlel —T N

—| {[} NE {[} {[} {[}

< |~ N i

— H /—\r_ - /_\% 15 ‘

Approx. 300 84.11[91.1] LA v |
(Lead wire length)
% o| P97 /Applicable cable O.D.

ol & - 23.5t0 07

S :

x| E =

Slo

58

Q Refer to page 1-5-79 for dimentions
with connector cable.

Station n |Station2| 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 |Station 20
L1 78 98 118 | 138 | 158 | 178 | 198 | 218 | 238 | 258 | 278 | 298 | 318 | 338 | 358 | 378 | 398 | 418 438
L2 50 70 90 | 110 | 130 | 150 | 170 | 190 | 210 | 230 | 250 | 270 | 290 | 310 | 330 | 350 | 370 | 390 410

1-5-68

O
5




Type 42: Side Ported/SS5YJ7-42- Stations]|

5 Port Solenoid Valve

C6,N7
= C8,N9

d

Rubber Seal Series

SYJ7000
Q [ I:AC

Grommet (G)

=3
3B
x| 2
e
52
<% E L1 Manual override
3 14 L2
=
4-04.5
(For mounting) 325
M N ‘ 19
= — L 7| o =
<& |z [=[p e G
S| ol =8 AOD —| = o Sy @
Nl GSlolz | SNz g T Y 3
| @] ©O= o O = | O <[
S of 18 %° N Fan Wl B I
a = » I It g = & = S 5
i 4 1) 1/4 )
Qs H (P, R port) N
(Pitch)
29 P=19
(Station 1)------- (Station n)
(Light/Surge voltage suppressor)
T
s \&
5|9 A e
8 [ 0000 .,
B : 9
VOO =R
8| (Pitch)
25 P=19 One-touch fitting
(A, Bport)
Applicable tubing O.D.: @6, @1/4"
28, 5/16"
L plug connector (L) M plug connector (M) DIN terminal (D) M8 connector (WO)
107.5
100
74 [81] © 88.7 © M8 x1, 78.5
© 58.6 S m © © 61
S I o S [ o
=} [}
=4 3 =N =,
5 - N - T - t © J

~ - N~ ey ~ N~ < o A ~

SZ [ @5 3z s LE &, | LE T 1O

Sk © |8 Ele 3l g% Q| &Y o NN

©| K o NS R o\ A T ol [ F

- N ] |~

f_r — F EE /—\§ VI'm = E [ LT == E

Approx. 300 85.1[92.1] r o
(Lead wire length)
) o| P97/ / Applicable cable O.D.

ol & - 23.5t0 07
= x

SE g

x| 3

oo

g8

Q Refer to page 1-5-79 for dimentions
with connector cable.

Station n |Station2| 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 |Station 20
L1 77 96 115 | 134 | 153 172 | 191 210 | 229 | 248 | 267 | 286 | 305 | 324 | 343 | 362 | 381 400 419
L2 49 68 87 | 106 | 125 | 144 | 163 | 182 | 201 | 220 | 239 | 258 | 277 | 296 | 315 | 334 | 353 | 372 391

1-5-69

O




	SYJ3000 Standard Manifold Specifications
	How to Order: SS5YJ3-20, SS5YJ3-*31, SS5YJ3-*32,SS5YJ3-*41, SS5YJ3-*46
	Dimensions


	SYJ5000 Standard Manifold Specifications
	How to Order: SS5YJ5-20, SS5YJ5-40, SS5YJ5-41, SS5YJ5-42, SS5YJ5-43
	Dimensions: Manifolds


	SYJ7000 Standard Manifold Specifications
	How to Order: SS5YJ7-20, SS5YJ7-21, SS5YJ7-40, SS5YJ7-41, SS5YJ7-42
	Dimensions




